Model No.DRT52 CORDLESS TRIMMER

22




RAE : DRT52

EE 2E3ALE = Crof o
001 266326-2 EfZ A8 4X18 EA 4
003 1830K8-7 512 ME EA 1
003-1 263005-3 N2 me EA 2
004 620P27-6 29X 2|2 EA 1
005 141V04-6 2R|X| 2 O|E =EE EA 1
007 1830K8-7 52 ME EA 1
007-1 263005-3 n2 de EA 2
008 643874-2 EoOlg EA 1
009 620P26-8 2EEg EA 1
010 652119-7 o= A3F M2X6 EA 6
011 629C71-2 AH|O|H EA 1
012 210017-7 =H|0{ 3 607DDW EA 1
013 519858-1 E2E OtA0| EA 1
014 211236-8 =H|0{ & 6002DDW EA 1
015 267785-3 20| E QFAF 23 EA 1
016 141V03-8 OI2H 3I2d ME EA 1
017 266326-2 EiE A3F 4x18 EA 4
018 763662-2 Z2HE 26 EA 1
019 763661-4 ZHE HE 6 EA 1
020 252652-5 THUMB NUT M5 EA 1
021 941101-4 Ea A5 EA 1
022 226217-9 SPUR GEAR 16 EA 1
023 265771-8 THUMB SCREW M5X33 EA 1
024 265763-7 THUMB SCREW M6X25 EA 1
025 941151-9 3 A6 EA 1
026 419138-4 H| O] A EA 1
027 410585-2 Ho|A = 2 HIH EA 1
028 265142-9 PAN HEAD SCREW M4X10 EA 4
29 194267-1 EZ|0 H|IO|A ZEE ME EA 1
AO1 122703-7 E2| 7}0|E OfA| 0 EA 1
A01-1 251471-6 FLAT HEAD SCREW M5 EA 1
A01-2 265135-6 COUNTERSUNK HEAD SCREW M4X10 EA 1
A01-3 265763-7 THUMB SCREW M6X25 EA 1
A01-4 265764-5 THUMB SCREW M6 EA 1
A01-5 317788-8 710l 20 EA 1
A01-6 324378-0 2 11 EA 1
A01-7 341136-9 23 EA 1
A01-8 941151-9 Z3H QtAf 6 EA 1
A02 122704-5 AEPO|E 7}0|E ASSY EA 1
A02-1 252649-4 THUMB NUT M6 EA 1
A02-2 266339-3 CAP SQUARE NECK BOLT M6X20 EA 1
A02-3 343593-7 7}0|E Z0|E EA 1
A03 191Y83-2 STRAIGHT BIT 6 EA 1
A04 343577-5 EEZ2 7t0|= (8 /10 / 9.5mm) EA 1
A05 781036-5 #xl 10 EA 1
A06 781037-3 Xl 17 EA 1
A07 418647-0 & CIEYH EA 1




